4. Indoor Water Park caters to both locals and out-of-state visitors. The demand for day-passes to the water park for each market segment is independent of the other market segment. The marginal cost (which also equals the average variable cost) of providing service to each visitor is $5 per day. Its fixed costs are $10,000 per day. Assume the daily demand curves for the two market segments are give by: 
Locals: Qloc = 3000 – 200 P 
Out of town: Qout = 3000 – 100 P 
a. If Indoor Water Park charges one price to all patrons, what is the profit maximizing price and quantity? What will be Indoor’s total profits? 
b. If Indoor Water Park changes a different price to locals than it does to out-of-town visitors, what price and quantity will be set for each market segment? What will be Indoor’s total profits? 

